

Standard Form Problems



Times heavier Mass of Sun
Mass of Earle

Z x 1030

6 1024

333,333

or 3.33 10 to 3 S.f

Times bigger 0.03m

I x 10 6
I 30,000



iÉÉ ÉT 3 5 103 400

1 3 104

107.69

108 to 3 S.f

a Time 31,08 3 33 15 s

to 3 S.f

b Distance in 1 year

3 108 x 60 60 24 365

9.4608 x 10 m

9 46 x to m to 3 S f



a Add masses of
all planets

2.668612 x 102 kg

Subtract 7.68612 10 kg
leaves 1 9 102

Jupiter is missing

b
Earth
Total

x 100

5.97 1024

2 668612 1027
X 100

0 2237

0.22 to 2 5 f

Finish even numbers for homework tonight


